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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A - Questions / =i Rf
s i - Lo £ =l (8 Aign L6 |
Two square roots of unity are :
Py ] s i N S (S 7RV IR
Centre Diameter Chord Secant A circle has only one ---- :
Lol S WeS7 bosl : oty
- . . Central The spread or scatterness;of observations
Mean Dispersion tendency Average in a data set is calledd:
" 5 . . 14Ty 7 (12 ‘s L1 | 4
pr /}g 5 3, uyﬂz.iuy 3 .u:r: o ».-g?,ﬁ(z_,/ JJ{
; The portion®fa cirele between :.:_L“Lk"/«x
Diameter Sector Segment Chord bttt sl an@reiseallad =
(x+8)i(x+7) | (x-8)sM(x=T7) | (x-8)i(x+7) | (x+8)s(x=T7) N /:Q'L; skl x2 =15x + 56 3
(t7) & (x+8) | ()& (x-8) (&) | (T)&(X+8) | o Nhmear factors of x2—15x+56 are :
s 3 6
A-B p B n ‘aLn{I{AUBMA;BfI
‘ If AcB ,then AUBisequalto: .
Ll L }‘;‘ "J:',‘U-J)J 8 ?.VMHJE'}'UIJLLL!(//L.B;JFLL/IU 7
: o _ ) Line segment joining any point of the
Perimeter Circumference Diameter Radial segment | circle to the centre is called :
R 31 AF o i e btaibiic:d ot 8
‘ Four_th 'I‘hir‘d Extro NG . Ina proportion a:b::c:d, b and
proportional proportional ¢ are called :
. B dl:'d.'wéu,fsU‘j),/J‘U*‘/;f»Jd...f/b\_g 9
7 S5 Lf'.["”/-‘-y Je The arcs opposite to 1] Y]
Perpendicular Parallel Incongruent Congruent incongruent central angles of a circle
are always :
R=1{(0,2),(2,3),(3,3),(3,4)}./ |10
(0,23 Q&4 | {1343 | {034} | Thedomainof  :c(sDomR jsx
R={(0,2),(23),3,3),(3,4)}is:
UnS L x —x-1=0eble Bofi | I
— 4 4 2 - fa,p etye S8 2Bs20
are the roots of x> —x—1= 0, then
product of the roots 2ct and 2 is :
v =kx? y2=x3 yzz-% yzz-—f%- lfyzoci3 ,then::;ﬂyzoc-% S 12
X X X ¥
KU KUs /s Kusk™ KU, e of S| 1B
Triangles Circles Rectangles Squares A histogram is a set of adjacent :
3 = 1 0 e P £ S0 |
Product of cube roots of unity is :
, 15
135* 150° 30° 115° 3% radians = : =l gf
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12 2. Write short answers to any SIX (6) questions :  : 2 ez L iy (6)%";&/ 2
(1) Define exponential equation. Ly fenied @

(11) Solve by factorization : x% —11x =152 :éJ’dg’,ﬂ,J}, (i)

(iii) Solve : x24+2x-2=0 cZ&S (ib
(iv) Evaluate : (1-3w -30*) :é(-:’-v‘;-,»f Gv)

et AL s LS (V)

(v) Find the product of complex cube roots of unity.

-5(:1”--2& SUn22:5 o 3x+1:6+4x u.‘?"'fn (vi)
(vi) Iftheratios 3x+1:6+4x and 2:5 are equal, find the value of x.

oy =24 B x Tx=3 cay=8ally <t S (viD)
p
(vi)) If yoc L and y =4 when x =3, find x when y =24
x
(viil) Find o? ,if w=ii+—2“_?3

?

-“‘ép"” a2, Ix a;r=:~1~i€l[—-—_2 S (viid)

(ix) Find a third proportional to : (x — y)2 9% _ 38 - :’é’r}"‘qtﬁlﬁ? (ix)
12 3. Write short answers to any SIX (6) questions”™: | : g.:u;fi.’ AL ey (G)Agc(jf 3
(1) Resolve into partial fractions : N B 100 . ’Z:( J::", o / Sz (D
(O *)(x+3)

(i) What are partial fractions?

?u}&nkﬁ/d;:z (i)
e Y AX InY={2,4,59} s X ={1,4,7,9} i
(D) If X ={1,4,7,9} andlY ={244,5,9}, then find ¥ N X
(iv) Define an Ontofiction. Ew ST Gv)
ZreifB-A InB=WuA=N/I ()
(v) If A=N afddB =W then find the value of B — A

_épl’”&;iuél'fuuiLXM JsM={d,e,f,g} sL={a,bc}S1 (vi
If L=%a,b,c} , M={d, e f,g},then find two binary relations in L x M

200,225, 350, 375, 270,320,290  :ZE et bidotoir a3 FE P Lb (vii)
(vil) Find the arithmetic mean by direct method for the set of
data : 200,225,350, 375,270, 320 , 290

(vill) Define class mark.

(vi)

Syl (viid)
&L yienl e sty (i)
12 4. Write short answers to any SIX (6) questions : : za_‘r..-.-.«uz /2L ey (6)4’4:.6:( 4

(i) Find ‘r’, when ¢=56cm and 9=45° & =ddr

(ix) Name two measures of central tendency.

Jv 0=45° 1 £ =56¢cm <2 (1)
REAETY - VIR 1)

(i)  Define radian measure of an angle.

(21&13 )
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4. (iii) Express the angle 315 into radian. LHR-4 "’u’édi S hod 13 315° (i) -4

(iv) State theorem of componendo and dividendo. -’cf:(u.t_z.;eﬂ}::‘ﬁ. w7 (V)
(v) Find the fourth proportional to 8, 7, 6. ek 326876 (V)

g mZB Jx ¢%58cm sib=15cm ca=17cm UL AABC 1 (vi)
(vi) Ina AABC,a=17cm,b=15cm andc=8cm, find m£B
(vii) Divide an arc of any length into 7 o 4 LSS (iD)

four equal parts.
-3 s B
oy e ndl S Ao sidufiee} (VilD

4
(viil) Write the closest quadrantal angles between which the angle j—;;i lies.
(ix) Verify : (1-sin@)(1+sin@) =cos’ 6 - Zhet (%)

(PART -II f55. )

Note : Attempt THREE questions in all. -y 9 /.jdlrdg .&‘r..wzﬁ.‘.-,mrcf J/ 2y
But question No.9 is Compulsery.

4 5. (a) Solve by factorization : x—tlJr—x-r-:E Y o Lff,’gf))_— ) S5
X x+1 12 ¥
4 Jﬁé’iﬁrJu’JuszJw?x—k?’mwS:O -‘bl)l/‘/rlf:f;"'}h’ddfm (a-«)
(b) Find m, if the roots of the AR T-2p =4
equation x>+ 7x +3m-5=0 satisfy the reldtion3o—2p = 4
5 o 2
4 a_ 121 sl il aBd=0) a:b=c:d SO 6
b \b?+d? ’
a 02+C‘2
6. (@ If a:b=c:d (a,b,c,d#0ppthen show that — = | ———
b Vp*+d?
4 (b) Resolve into partial fractions : —jﬁl—;ﬂ—— éifJ,.y S8z ()
(x+3)(x“+1)
4 Bﬂ{z,s,s,'i}”uA:{1,3,5,7,9;«‘U={1,2,3,4,5,6,?,8,9,10}f:(D) by

(AUBY =A' "B JZJuP7
7. (@) WB-91,2,3,4,56,7,8,9,10},A={1,3,5,7,9}and B={2,3,5,7}
thengverify (AUB) =4 NP
4 (b Find the standard deviation “S” : e “SY A A ()
9,3,88,98,9,18

4 8. (a) Verify the identity : l+sfn9—l_sfn9=4tan6' secd : é:.«:lf‘:(.:;fu’ (H) 8
1-sin@ 1+sinf

4 45° :L;{;"uf:;yuz‘ud_/.a,.suiz:»?@/’u ()
(b) Draw circle which touches both the arms of angle : 45°
8 -q..t'ﬂ)/{_}'schf,ab".ulsi,/.i;‘;d/(ﬁ.:/’;)? ))':Lf(c..//ié..fb 9

9. A straight line, drawn from the centre of a circle to bisect a chord ( which is
not a diameter ) is perpendicular to the chord.
OR L]
2y RO 7Lt !/ux:l}ui;u:f{lgdﬂﬁ’d.._,;r)d’/'//»flufo)’f: L s i s
If the angles subtended by two chords of a circle ( or congruent circles) - < ¥
at the centre ( corresponding centres) are equal, the chords are equal.
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